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OdAZHel 9,500,000& = 1CH 9,500
OEELD| 2,000,000& *2CH 4,000
OZH2E M| 9,500,000& = 1CH 9,500
OAMTEI (sIIHAMGHRE) 1,500, 000*2CH 3,000
S2XA S HAL 162,691 270, 160 A 107,469
101 @121l 18,441 21,960 N 3,519
04 JI2ZtH 22 XNHEE =+ 18,441 21,960 AN 3,519
SEXA SIHAHLUAMY 29 olAHH| 18,441
oJ=3 2,005,0243 x 1 »8& 16,041
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AN seIIsHE

M =& XCIIE XM U SEAS Y

??: sIH 88 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O4EE JI2RE = 180,000 » 1 «8& 1,440
OP == 120,000 »1H +83 960
201 €2l 120,450 92,600 27,850
01 At 22/l 23,300 5,750 17,550
OLUAIY 298 23 100,000& 503 5,000
OsJIHYUAY HSH(HYS, AFS S)
250,000 x4H 1,000
OLUsIAH =2l B+ 100,000& 903 9,000
OlnU=gelaga 204 S
400,000& *2CH+102 8,000
ORI Hdsgel s 835 7¢
300,000& =14 300
02 =24l 97,150 86,850 10,300
CgU=sJIH Bz 150, 000& »203CH 30,450
O2U=sIIAH =X =Hl 300,000& »203CH 60,900
OLU=IIH SFH(2ER S)
1,500& x100£ =12 1,800
OLU=sIAH =283 ¢ 200,000& »203l 4,000
206 TH 2 Hl 1,800 37,800 36,000
01 M= 4l 1,800 37,800 A 36,000
OSSR =g Nz 7Y
300,000& =63l 1,800
405 XHoHF S HI 22,000 117,000 A 95,000
01 HatL EZFH S 22,000 117,000 A 95,000
OSENx dUsIIAH # 22,000
OZJI M =21 10,000, 000& = 1CH 10,000
O2E3J1(2H) 2,000,000 »3CH 6,000
OBE3JI(ExH) 2,000,000 =3CH 6,000
g sYIIAH N 36,000 0 36,000
= 18,000
Al 18,000
405 Xt&tFE SHI 36,000 0 36,000
= 18,000
Al 18,000
01 XA = ZFH SHI 36,000 0 36,000
onsg =sJIH (=8 2401)
36,000,000 = 1CH 36,000
= 18,000
Al 18,000
sl 28 3,522,640 4,159,290 A 636,650
= 618,090
Xl 265,000
= 462,960
Al 2,176,590
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fAM: sgIlsdH
A =gz E=
o9 REEY s (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
sy Jaea 1,301,100 1,565, 160 264,060
= 141,350
Xl 265,000
< 136,560
Al 758,190
e &8s &3 IR (AEES) 200,000 200,000 0
Xl 100,000
Al 100,000
402 2I2H X201 M 200,000 200,000 0
X 100,000
Al 100,000
02 2IZE 2 A EZ (OIS ) 200,000 200,000 0
ODNEE DRI MaJIE XA
50,000,000 =44 A 200,000
Xl 100,000
Al 100,000
=2 Al MY (AEXRSE) 100,000 380,000 A 280,000
= 50,000
Al 50,000
402 RI2EX 20| N 100,000 270,000 A 170,000
= 50,000
Al 50,000
02 QI 2 A EZ(OI XM THE) 100,000 270,000 A 170,000
ORXZ =THHh HTHE A8 A= Al
100,000,000& *1JH £ 100,000
= 50,000
Al 50,000
sHE2 ollE At 2g9X& 22,000 22,000 0
= 11,000
Al 11,000
101 1A dl 18,440 18,400 40
= 9,220
Al 9,220
M4 I12HHZ22NSES 18,440 18,400 40
OHME A SALZE A 18,440
0Jlz3 2,005,0002! * 12 g2 16,040
= 8,020
Al 8,020
O4UBEZ (D12 2E2) 180,000 x1H «8& 1,440
= 720
Al 720
ONs=< 120,000 »1H «8 & 960
= 480
Al 480
201 LEr2 Y| 3,560 3,600 A 40
= 1,780
Al 1,780
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 3,560 0 3,560
OFRUNESIZEEY 222
3,560,000 =104 2 3,560
= 1,780
Al 1,780
s&= golls &M X 153,800 240,260 A 86,460
= 76,900
Al 76,900
307 glz2tol & 153,800 240,260 A 86,460
= 76,900
Al 76,900
02 IZtE M AHE X 153,800 240,260 A 86,460
Ostag &M XA 41,200,000 104 & 41,200
= 20,600
Al 20,600
OSLHHS (M, B+ S)H X
112,600,000 * 100 A 112,600
2 56,300
Al 56,300
A= E4d3 N2 330,000 270,000 60,000
Xl 165,000
Al 165,000
201 Let2d] 50,000 0 50,000
Xl 25,000
Al 25,000
01 At 22l 2,000 0 2,000
OSHE BAH 2Y L SHE AYFT
200,000 * 1094 2 2,000
Xl 1,000
Al 1,000
03 &AL2 I 48,000 0 48,000
OSd3 34, )83 S & AHIFA 48,000
X 24,000
Al 24,000
307 gl2tol & 220,000 185,000 35,000
Xl 110,000
Al 110,000
02 IZHE M AHE L 220,000 185,000 35,000
OYaN E43 RSHA =& (&4 23
Jler2st) 220,000,000& *1EH X 220,000
X 110,000
Al 110,000
402 DIZHRFEO0I A 60,000 40,000 20,000
Xl 30,000
Al 30,000
02 QI EASEZ (OIS ) 60,000 40,000 20,000
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Al
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Al
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A sgI=HH
MM sH)|l=s B3
& HSE8F JI=Es CEE-ED
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Al 700
09 SHAIAHI B A2 400 400 0
O=s&Z2 Holls WEEM 3o 24
8,000 x20H *23/4+80,000& 400
& 120
Al 280
11 JIEtE A2 600 3,800 A 3,200
O=s&Z2 dals 2H s ZAE
300, 000& *23] 600
= 180
Al 420
307 glztol A 140,200 151,000 A 10,800
= 42,060
Al 98, 140
02 QIZ2IA AAIE E X 140,200 151,000 A 10,800
OsMNES2422 (GAP) S8 AIESI =4
100,000,000 *1&+ X 100,000
& 30,000
Al 70,000
O3s84d =52 YHolE 2=EtY 2H
40,200,000 *13] 40,200
= 12,060
Al 28,140
402 SI2F 20| & 235,000 0 235,000
& 93,000
Al 142,000
02 BIZtXIEANYE X (OIETH) 235,000 0 235,000
OUXNS M HMMMLT SAAY
50,000,000 *1J1 A *70/100 35,000
& 15,000
Al 20,000
OLNE BEE US A USEE A
30,000,000 =10 £ 30,000
& 9,000
Al 21,000
O H ol CH H AZSZE MBHEX SEHAIY
30,000,000 =10 A 30,000
& 9,000
Al 21,000
OMHS 2K MSATHHHSHA SHAHY
50,000,000 4 2 %70/100 140,000
= 60,000
Al 80,000
B AMAHH] 2 MG AlY 21,000 68,000 AN47,000
307 2izto| A 21,000 0 21,000
02 QIZIA AAIE E X 21,000 0 21,000
ONEY MES=HY & MMUX 4 /\I‘:H(/\I"”
) 30,000,000 x1EH X x70/10 21,000
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A sgI=HH
MM sH)|l=s B3
& HSE8F JI=Es CEE-ED
(o
SA BB (SH) - NRAY - B Ol &F o4 %E& HRE2
SN HES J=XH 41,000 46,000 A5,000
402 BI2H X 20| M 41,000 41,000 0
01 It EANSEXZ (MMM A) 41,000 41,000 0
OSH0l M 5t AAS A AB(AHY)
30,000,000 1 A +70/10 21,000
OHEEH ZEIE 2 AMY (A=)
10,000, 000 *1JH 2~ *80/10 8,000
OH MII=E2 ZSSABSR X8 A (AIR)
12,000,000 *1JH & 12,000
A EXDUL J=ES 14,500 71,600 A 57,100
201 et d| 5,500 16,600 A 11,100
01 At 2t2l ] 3,000 13,000 A 10,000
o% BRRM AWM 2Y 2E 2
100,000& x10& 1,000
o4 EA2M MU KSAEZE 1,000,000 x23] 2,000
02 2=2=24%H| 2,500 3,600 A 1,100
ORAXNESZ2EELEYU KAES 500,000 *x53] 2,500
206 M = dl 6,000 0 6,000
01 X2 8| 6,000 0 6,000
OXEI P2A 2Y B 7
300,000 20 6,000
207 I & 3,000 5,000 A 2,000
03 A& o 32H| 3,000 5,000 A 2,000
OADls, sXM 8& A5 AMEHR
1,000,000 =30+ Al 3,000
gas HIAMA ASHD AIY 16,000 26,000 A 10,000
402 SI2FXHE0| & 16,000 26,000 A 10,000
01 CIZEXIEAIS B R (ML) 16,000 26,000 A 10,000
OJIE2XNY = EIEE2 MUatd X4 A" (AR
) 20,000,000 *1J1 A *80/100 16,000
MAEESHARB0 g ¥ =IO 15,700 8,400 7,300
201 LBt 10,900 5,600 5,300
01 AP 22| H| 9,900 4,900 5,000
OY9=XNEXE M 500,000 x10& 5,000
OX=z&d = ¥ EHolg 29
400,000 63| 2,400
0Ys B4 U SAZSE HE
50,000& *303] 1,500
O%9=sJls =8 HE 100,000& 103 1,000
03 &AL EH| 1,000 700 300
Oz=sd "Witsl xE AXt 500,000 *2CH 1,000




A sgI=HH

M s90ls 23

& HSE8F JI=Es CEE-ED
- _ _ RE]

S EH B (BH) - MBAY - BAS Ol &F o4 ﬁ}lgﬁ HRE2
301 Bt A= 4,800 2,800 2,000
09 HAIAHI EAZ 4,800 2,800 2,000

OX=2&d BIts =4 8,000& x 150 43| 4,800
=M D822 770,400 817,600 N4T7,200
= 205,000
& 96,900
Al 468,500
= AMIlEs AM-E(SADs) 400,000 390,000 10,000
= 200,000
Al 200,000
307 2iz2to| A 69,000 110,000 A 41,000
2 34,500
Al 34,500
02 QIZIA AAIE E X 69,000 110,000 A 41,000
OFA HMHZ TRME AlY iz
39,000,000 =10 £ 39,000
= 19,500
Al 19,500
OFTA TS At2Hl B2 81250t FM gy
AlE &G 6,000,000& *504 A~ 30,000
= 15,000
Al 15,000
402 SI2FXHE20| & 331,000 280,000 51,000
= 165,500
Al 165,500
02 BIZtXIEANYEX(0OIETH) 331,000 280,000 51,000
OFA YMKY TRHE AlY
52,200,000& *5H A 261,000
= 130,500
Al 130,500
OFTA TS At2Hl B2 81250t FM &y
A& 14,000,000 x5 2 70,000
2 35,000
Al 35,000
ENES EXDNSSIQ HELHSA D23 (EMIs) 232,100 74,200 157,900
& 96,900
Al 135,200
101 2124 H] 18,440 0 18,440
< 5,532
Al 12,908
04 JIZtHI22XNSE S 18,440 0 18,440
OFA HMAMZ S DIME MASZS AMES
oS BX o1AHH| 18,440
oJles 2,005,000 x 1 »8& 16,040
o 4,812
Al 11,228
Q4 g Ijae"E2 180,000 »1H »8& 1,440
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2N

SIS dH

A =gz E=
SEEE PR (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= T30
Al 1,008
ONs=< 120,000 »1H +8& 960
= 288
Al 672
206 M= Hl 1,560 0 1,560
< 468
Al 1,092
01 M= tl 1,560 0 1,560
OSM HMHZ 28 D82 MA4B3 NY 2
I M7 156,000& *10& 1,560
= 468
Al 1,092
307 21201 A 77,000 0 77,000
< 33,000
Al 44,000
02 QAFAAFEX 77,000 0 77,000
O=ZE RIS MES S 6ty 22
= 253384 XNYEEs AlY)
30,000,000 x1J1 2 +70/100 21,000
< 9,000
Al 12,000
OEY Jlsd A2 JIsE2 AlgE(Se)
80,000,000 x1J 2 x70/100 56,000
= 24,000
Al 32,000
402 RI2HX=0| M 135,100 74,200 60,900
< 57,900
Al 77,200
02 QI EAILEZ (01T S) 135,100 74,200 60,900
OSEE RIS HMSS S8 6x¢y 22+
E(s8 NY9E2xsg AY)
90,000,000 »1JH 2 x70/100 63,000
< 27,000
Al 36,000
QICT &2 SAEZME JisE=s AY
13,000,000 » 101 A x70/100 9,100
< 3,900
Al 5,200
OHMMZ ZSFLEAL ZZ2HE AIEY
90,000,000 *1JH 2 x70/100 63,000
< 27,000
Al 36,000
YsHY GBS N (BSYs HHIENH) 10,000 0 10,000
= 5,000
Al 5,000
101 1A dl 6,930 0 6,930
= 3,465
Al 3,465
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sJl=dd
sYlls 25

NP ErE SERESED
o
SA - B .G (3AH) - MBAY - BES %Ei HR=2
04 JIZtHIZ2E2XNSE S 6,930 0 6,930
OHBASAZRL 22 B 12|
2,310,000 x1H +x3& 6,930
= 3,465
Al 3,465
206 M = Hl 3,070 0 3,070
= 1,535
Al 1,535
01 X2 H| 3,070 0 3,070
CREEE 29 W27
307,000 <10 3,070
= 1,535
Al 1,535
St 2 AN EENZS AMEHAEY 35,200 105,600 AT70,400
307 2Iz2to| & 35,200 0 35,200
02 212+ &AL 35,200 0 35,200
CEENE: SazE M AI“*(AI”‘”)
10,000, 000 *2J1 A *80/10 16,000
Ot HIE =& =M &0 AYH(AR)
4,000,000 *6IH1 A *80/100 19,200
k= o FH MAl A& AR 16,000 154,500 A 138,500
402 212+ X2 0] 16,000 154,500 A 138,500
01 SI2t X2 ALS MH <) 16,000 154,500 A 138,500
OAFIN RE4 BIU o8 YEHINA
Al (A7) 10,000, 000 *2JH 2«80/ 100 16,000
E4JIE S43 AIEAY 47,500 66,200 A 18,700
402 Q12+ X2 0] 47,500 23,200 24,300
01 QI EAIS EX (NI ) 47,500 23,200 24,300
OUZSAZ JIIZRESHA JIsE22 AME(AMR)
45,000,000 x1JH A~ %70/ 100 31,500
OZUHEHE % BY MEES 22 AlYF)
2,000,000 107K 2~ %80/ 100 16,000
SEAESAE0F F 3| 29,600 15,100 14,500
201 gEt2Ay| 9,000 2,200 6,800
01 AP 2t 2] H| 8,500 1,500 7,000
OxR2d 29 23 Q! 500,000& 10 5,000
OFMIU=2H WM & 23572
200,000& x10= 2,000
oMYA BE 2B A=
2502 x2, 00082 *x2= 1,000
O=EAt 2 =8 849 HZ& 50,000& *10= 500
03 Al A H| 500 700 A 200
O SFT W MY YR
500,000 =1CH 500
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D sgllsdH

sl 28

RS JIeEs

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
206 M= Hl 4,400 2,000 2,400
01 =8l 4,400 2,000 2,400
oOxzRe2d M= 300,000& 103 3,000
OFdtu=E AsHE # 7,000& x40 «53| 1,400
301 et a3 16,200 10,900 5,300
09 SALEHIE &S 12,200 9,150 3,050
CEIm N
8,000& x40 103 3,200
oste e3+F HI 300,000& *x20H 6,000
O T WS 25,0003 x40 +33| 3,000
1MIIEELES 4,000 1,750 2,250
OF& x| IME 400,000& x10H 4,000
Ha, 33 Jis2Ea 820,340 1,060,930 A 240,590
= 121,740
< 157,500
Al 541,100
=2 Al MY (MA3E) 210,000 220,000 A~ 10,000
= 105,000
Al 105,000
402 RI2FX=01 M 210,000 220,000 A 10,000
= 105,000
Al 105,000
02 QIZEX2 AP 2 (0 210,000 220,000 A 10,000
O0ts 2U=ss 2= AY
70,000,000 =14 2 70,000
= 35,000
Al 35,000
ONEEZHYIE S @I |20
= E=SAd 80,000,000 »1&H Xl 80,000
= 40,000
Al 40,000
O=Us4d 2 SEE= AY
40,000,000& =1kl 40,000
= 20,000
Al 20,000
Ostg Z2Antel ASZYH JzsE2 AlE
20,000,000 =1kl 20,000
= 10,000
Al 10,000
SHE ASTA 24 6,240 6,480 A 240
= 6,240
202 Odl 2,080 2,160 A 80
= 2,080
01 =S LHA YI 2,080 2,160 A80
OsdE 2SI A (4l 20,000 x1043] 2,080
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AN seIIsHE

T . A
M sl B

S WA, S J=ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,080
301 et d = 4,160 4,320 A 160
= 4,160
NJIEEd=s 4,160 4,320 A 160
Osts ASITA 24 SIHEH
40,000& %1043l 4,160
= 4,160
3= NYEE=sY A (HASE) 140,000 230,000 290,000
< 60,000
Al 80,000
402 QI2H X201 M 140,000 230,000 90,000
< 60,000
Al 80,000
02 QIZF 2 AL EZ (01X TH ) 140,000 230,000 A 90,000
OFY == 7 ZHA L3 MY
100,000, 000% *1&k&I %70/ 100 70,000
< 30,000
Al 40,000
O+E8H8l MADIB OFE AlY
100,000, 000% *1&k&I %70/ 100 70,000
< 30,000
Al 40,000
ZEE & U SHUSS ESAY 21,000 0 21,000
< 9,000
Al 12,000
402 2I2H X201 M 21,000 0 21,000
< 9,000
Al 12,000
02 QI 2 A EZ (OIS ) 21,000 0 21,000
OFY XEE TN+ X MUHAIY
30,000,000& *1JH 2 x70/100 21,000
< 9,000
Al 12,000
MOIH=sQ e-HIZLIAASESE XA 10,000 15,000 25,000
= 5,000
Al 5,000
201 et | 1,400 3,600 £2,200
= 700
Al 700
01 At 22l 400 1,600 A 1,200
O=sgQl e-HIZULA WM WA
400,000& x13] 400
= 200
Al 200
03 A2 E HI 1,000 2,000 A 1,000
O=gel e-HIELIA EEAT I X2
500,000& »23] 1,000




AN seIIsHE

T . A
M sl B

2 A, SE JsEa2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 500
Al 500
301 Bt A= 8,600 11,400 AN 2,800
= 4,300
Al 4,300
09 HAIAHI E A2 1,600 1,400 200
O=sYol e-HIRLIA N EAX 24
8,000 x200H 1,600
= 800
Al 800
11 JIEtE A= 7,000 10,000 A 3,000
OsYOl e-HIXLIA T 2A=
500,000 x140+ & 7,000
= 3,500
Al 3,500
2 AER0 SHIHE AlEY 98,000 126,000 A 28,000
402 BI2H X 20| M 98,000 126,000 A 28,000
01 SIZEXIEANYEXZ (MMM E) 98,000 126,000 A 28,000
OH2HE2Z METHH 2UsY S S AIE(
Al ZH) 50,000,000 1 *70/ 100 35,000
O% X 20 STHH A" (&)
30,000,000 1 *70/ 100 21,000
OH HHZE=S AMEIMA SR A (AR)
20,000,000 *3J1 A +70/100 42,000
Mg DEE WA AHEMA J=sEa 75,000 83,000 A 8,000
402 SI2vXHE0| ™ 75,000 83,000 A 8,000
01 SIZEXIEANSE X (MMM A) 75,000 83,000 A 8,000
ONZEZS Holls =S M AlY(AIR)
5,000,000 *5J 2 «80/100 20,000
©D2I| A EHOIE! THHH AR (AF)
50,000,000 1E-HI*70/ 100 35,000
OO0ts Z=OLMHBH Al”H (A&IF)
5,000,000 *3J1 2 «80/100 12,000
©O1DZF EZ HlW AYH(AR)
5,000,000 «2J1 A «80/100 8,000
NEE 33 4 35,000 35,000 0
402 SI2vXHE0| & 35,000 35,000 0
01 QI E AN EXR (M) 35,000 35,000 0]
O3t CHA M ALD|BE X & AlY (AIR)
25,000,000 11 A +70/100 17,500
OSIHBYALEY BHE MBS AlY(AH)
25,000,000 x1J1 2 %70/100 17,500
MASHI 20 s ¥ O3 5,600 4,450 1,150
201 et | 2,800 3,400 A 600
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AN seIIsHE

T . A
M sl B

2 A, SE JsEa2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 1,000 1,600 A 600
OMASE Jlz=ns WM ¥ Hilg 8¢9
200,000& x53| 1,000
03 A2 E Y| 1,800 1,800 0
OMASE Jlz=ns ¥ Hilgl MR
600,000 «3CH 1,800
301 et A= 2,800 1,050 1,750
09 SHAIAHI EAZ 1,600 1,050 550
OMASE s L "t =4
,000& *50H x4 3| 1,600
11 JIEtE A= 1,200 0 1,200
OMASE NE ZAIS 300,000 43| 1,200
ADNEE JFUHEZS MM B3 206,500 0 206,500
& 88,500
Al 118,000
402 SI2F 20| & 206,500 0 206,500
& 88,500
Al 118,000
02 X E AL E X (0| &M THE) 206,500 0 206,500
OAE A OFMMAF Al Y
30,000,000 *1EHx*70/ 100 21,000
= 9,000
Al 12,000
OICT=St €= Hols2H &&td o2
A ARAIEH 15,000, 000 *2&H X 70/ 100 21,000
=} 9,000
Al 12,000
olICTe2E retd 2422 8FHIHA AlY
18,000, 000 «2JH 2~ +70/100 25,200
= 10,800
Al 14,400
OICTE=Z E)| =R Yols ZMuLAIAE D)
=82 4,000,000 11 2~ %x70/100 2,800
o=} 1,200
Al 1,600
OAE20 246 22=HHAAE J=E2AY
15,000, 000 «1JH 2~ +70/100 10,500
=} 4,500
Al 6,000
OWolwWetHE olgs D9 YHollseH Jl=
E2AHY 100,000,000 * 1€t M x70/100 70,000
o= 30,000
Al 40,000
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Al 1,500
ANEEs sHII=FEs AN 10,000 0 10,000
2 4,000
Al 6,000
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OF 1N B=h=-§=1 180,000 42 »1H 720
2 288
Al 432
ONfEs=g 120,000 x4 & x1H 480
= 192
Al 288
I+ Y S8BRE Iz 630,800 715,600 £84,800
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402 RI2EX20| ™ 51,000 54,000 A 3,000
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5,000,000 *1JH 2~ +80/100 4,000
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20,000,000 »1&H&I+70/100 14,000
OXHA TTHESK MA AIH (&)
15,000,000 » 1 & &I 80/ 100 12,000
== SEAZ0F s 2 I 5,800 4,600 1,200
201 Let2d] 1,000 1,000 0
03 A2 Z Hl 1,000 1,000 0
Ou==S& HEits Xt Xt 500,000& *2H 1,000
301 et a3 4,800 3,600 1,200
09 SALAHIEA S 2,800 2,000 800
OB4SH DT L Bt 24
8,000& x175% »23| 2,800
11IIEESS 2,000 1,600 400
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J| 9,000
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OFSHE SBWR2XVES & ol
20,000& x1503] 3,000
< 900
Al 2,100
301 L2 A S 22,200 21,200 1,000
< 6,660
Al 15,540
09 HALAHIEA S 1,000 0 1,000
OA=HE £H3 &K 24 50,0008 20H 1,000
< 300
Al 700
MIIEBELSS 21,200 21,200 0
OA=sHE S8EUMZ XN &4 UHE 243
1,000, 000& »2H 2,000
< 600
Al 1,400
o3dE &= AFXA 9,600,000 x2H 19,200
< 5,760
Al 13,440




2N
X ZH -
L= B

el

H oo

2= e
2HEdsY JlsEs
Nsg gdst

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
2oes H42s5 w=s 41,081 36,180 4,901
101 @14 Hl 18,441 18,300 141
04 JIZHHZ2XNEE S 18,441 18,300 141
ORMEs Mest W' EX oA 18,441
OJdles 2,005,0242 »1H +83 16,041
Q428 JI12=2E3 180,000 »1H +8& 1,440
Os=< 120,000 1«8 & 960
201 Let24d] 6,000 7,100 A 1,100
01 AP 2teltl 5,000 5,000 0
OZANsHHESsE 22 =25
200,000& 105 2,000
ORMe=Mas & AZ2WE W, =23
10,000& 30 =103l 3,000
03 A2 S HI 1,000 2,100 21,100
ORMz=Mas W 2 AZ2NE JHAZ
ek Xt 500,000 *23| 1,000
206 M= Hl 12,000 3,000 9,000
01 MHZ 4l 12,000 3,000 9,000
oORMMEs s ¥ IZ2WE MES
10,0002 30X 103 3,000
O0e0ld ¥ RIS WA HENs A5 Wz
30,000 x10 *30 4 9,000
301 L2 A F 4,640 5,380 AT40
09 HALAHIEA S 2,640 2,380 260
oRuMes ws ¥ AZ2WNE FHAL 54
8,000 30 103 2,400
OZANsSHE0F AIHALY EOtg EFAX =4
8,000& 30 13| 240
11IIEtEA S 2,000 3,000 21,000
OoRtzsdzs & AZ2NE TAE
200,000& x10H 2,000
SHHOIIE =28 29 103,172 106,500 A 3,328
101 124 dl 32,672 18,300 14,372
4 JI12ZtHZ22XEE+ 32,672 18,300 14,372
O=s4dHOtIE 22 el 21,879
OJles 2,005,024 »1H +8& 16,041
Q428 J12243 180,000 » 1 «8& 1,440
On=Eg 120,000& »1H +8& 960
Osgd=¢ 107, 4123 x1H x4 2«83 3,438
O=sdHOHIHa 22l JIZM2IZ2X EAS
2,200,000 =1 2,200
OsdHOHIHa M=xY 2
71,6083 x6H 202! 8,593
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AN sg€II=4dH
M ABAsY )s23
Helr TAsY 2435 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 35,500 12,000 23,500
01 At 22l 15,500 9,000 6,500
Os=4H0tm3a el m=stl 200,000& x5H 1,000
OsdHOIIE 22 28 M
1,000& *10,000% 10,000
Os4HOIIA 2% E2Z(EFE )
15,000& *300% 4,500
02 2324l 20,000 3,000 17,000
O=s4AHOIIHA AIE&H RXNES
8,000,000& 13 8,000
OASHMEfSIEE |RA22l  1,000,000& *122] 12,000
206 M= Hl 15,000 25,000 A 10,000
01 =8l 15,000 25,000 A 10,000
OXNHAESHESSH =8 M2
5,000& *20Z * 1004 10,000
O=sdHOHIIE 298 MZE  10,000&+5Z«1004 5,000
401 Al HIZ 201 8] 20,000 50,000 A 30,000
01 A& HI 20,000 50,000 230,000
OsAHOIIA AlE SXES
20,000,000 =104 2 20,000
S& ME stote HAt 73,600 80,400 A 6,800
201 ¢et24] 50,400 60,400 A 10,000
02 =224l 400 400 0
oBA U EUFT T PRI
1,000& 400 400
03 A2 Z Hl 50,000 50,000 0
O=4&XHE &otY A 50,000,000& x13] 50,000
206 M= Hl 20,000 20,000 0
01 MHZ 8l 20,000 20,000 0
OsaNEdA FAXLEE 28 W&
5,000& 103 »200= 10,000
O=saHME AN MEME  1,000,000& 1024 H 10,000
301 et a3z 3,200 0 3,200
09 A HIE &S 3,200 0 3,200
O=s&NEE0E NHJASAX 24
8,000 x100& 42 3,200
IoMAlE 29 83,600 105,400 221,800
201 Let24d] 20,400 15,400 5,000
01 At 2teltl 2,000 0 2,000
o=t A3 EES MH(2AES, =UHE)
2,000,000& =13l 2,000
02 =24l 400 400 0
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M ABAsY )s23
Helr TAsY 2435 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEEEEETFIEEEEED
1,000& 400 400
03 A2 Z Hl 18,000 15,000 3,000
O=NAZ A 2 18,000,000& =13l 18,000
206 = Hl 60,000 90,000 30,000
01 MHZ 4l 60,000 90,000 230,000
O=sHAS ME(ME, 3t2)
1,000,000& «30& 30,000
O=SIZSA(ANEZE) Mz
10,000& *3,0002 30,000
301 et a = 3,200 0 3,200
09 &AL HI B &S 3,200 0 3,200
O=3tdAlz HRSAL 24
8,000 *40H 102! 3,200
ASANYEE 29 58,756 51,600 7,156
101 @124 dl 43,756 36,600 7,156
04 JI2ZHHZ2XREE S 43,756 36,600 7,156
OASAYEIE 29 olAHt| 43,756
OJles 2,005,024 »2H +83 32,081
Q428 J12=243 180,000 2% «8& 2,880
ONEs=g 120,000& »2H +83 1,920
Osgd=¢ 107,412 x2H x4 2«83 6,875
201 et 5,000 5,000 0
02 2324l 5,000 5,000 0
OASAYEIE A4 RALEH
1,000, 0008 x5& 5,000
206 M= Hl 10,000 10,000 0
01 =24l 10,000 10,000 0
OAMSANYE 2IME(ZSR, &E 3S)
200,000& 503 10,000
MOl A3 JIsA 29 35,079 30,000 5,079
101 @144 dl 21,879 18,300 3,579
04 JIZHHZ2XEES 21,879 18,300 3,579
OMII= AZ JIE A 22l 2] 21,879
OoJlzs 2,005,0242 »1H +8& 16,041
Q4 2E J12=243 180,000 1 «8& 1,440
ONEs=g 120,000 »1H +83 960
Osg=+% 107, 4123 x1H 42«83 3,438
201 Let24E] 4,000 2,000 2,000
01 At 22l 4,000 2,000 2,000
OMII& A3 A 29 200,000 208 4,000
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2N
X ZH -
L= B

el

o

2= e
2HEdsY JlsEs
Nsg gdst

- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@i HRE2
206 M = Hl 9,200 9,700 A 500
01 X2 H| 9,200 9,700 A500

OMIIz A JIEAN 22 MHEB(AIE, $E S
) 600,000& x12& 7,200
OMIIE A JIEAl S8 7Y
500,000 4= 2,000

HsHE s = AEY 42,200 32,200 10,000
207 &I & d 15,000 0 15,000
01 24| 15,000 0 15,000

OHA=HE EBIA HME(AF)
15,000, 000& » 1Al 15,000
307 212t0| & 8,000 13,000 A5,000
04 SIZ2ISHAAISH E X 8,000 0 8,000
OHNsHE SSHHAH(AI ) 8,000,000 *13] 8,000
402 It X201 M 19,200 19,200 0
01 SIZEXIEANSEXZ (MMM E) 19,200 19,200 0
OFSY 27D ASHE ASSH A (AY)
8,000, 000 *3J A *80/100 19,200
Hszgads & 27,000 0 27,000
= 8,100
Al 18,900
207 SO0 | 7,000 0 7,000
= 2,100
Al 4,900
01 | 7,000 0 7,000
OASHY HH3 HEY BY
7,000,000 *13] 7,000
= 2,100
Al 4,900
307 2Iz2t0| & 20,000 0 20,000
= 6,000
Al 14,000
02 QIZFE AAIE E X 20,000 0 20,000
OH=s&HIELT XA 10,000,000 x2XH 20,000
= 6,000
Al 14,000
HUsgo 933 I 52,833 0 52,833
= 36, 143
Al 16,690
201 2Et24Ay| 4,200 0 4,200
= 2,100
Al 2,100
01 AP 22| d| 300 0 300
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AN sg€II=4dH
M ABAsY )s23
Sel: TASY 245 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CEEEEREEEEELEEEEEREEE
100,000& »3H 300
= 150
Al 150
03 & Ar2 Z I 3,900 0 3,900
OHUSY s Y 29
1,950, 000& 23| 3,900
- 1,950
Al 1,950
301 LtE L= 48,633 0 48,633
= 34,043
Al 14,590
11IIEBEAS 48,633 0 48,633
OaE=sYe sFIXE 8,105,500 »6H 48,633
= 34,043
Al 14,590
O 2I10HR A8JI2 B2(EASY) 21,000 0 21,000
= 7,000
Al 14,000
301 et a = 1,000 0 1,000
< 1,000
11IIEIEAS 1,000 0 1,000
OsSd a3 UHa AT L4
250,000& x4H 1,000
< 1,000
307 21201 A 20,000 0 20,000
< 6,000
Al 14,000
02 HAFAAHEX 20,000 0 20,000
OEAN=SEHS XNIAAY 5,000,000 404 & 20,000
S 6,000
Al 14,000
MAsgo SRMSNS(I9sIIZI2UR) 44,000 0 44,000
= 22,000
Al 22,000
101 @124 9,240 0 9,240
- 4,620
Al 4,620
04 JIZHHZ2Z2XNESE S+ 9,240 0 9,240
O4& 7 sgel dsJI= Jlzu® NE g2
L el 9,240
OJles 2,010,000 x1H 43 8,040
= 4,020
Al 4,020
O4UEBEZ(JI2REZ) 180,000 *1H «42 720
2 360
Al 360
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M =Y JsE2
Sl TAsY 245 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&E=g 120,000 » 1 =43 480
= 240
Al 240
301 et a3z 34,760 0 34,760
= 17,380
Al 17,380
09 HALAHIEA S 6,260 0 6,260
MRS (ASAE) JELBINEDE BH
i SA 8,000& x40 102 3,200
= 1,600
Al 1,600
Ot A= IslIxJIsns MU
10,000 +6CH 3,060
= 1,530
Al 1,530
MIEE43 28,500 0 28,500
Ot A=A (AsSHE) IIZEsII20E M
=l 500,000 x9H 4,500
= 2,250
Al 2,250
OHE = SFASUE X (UE BE)
6,000,000& x4 24,000
= 12,000
Al 12,000
SENT2HAMI (A ZsYIISHH JIsCHES) 100,000 0 100,000
< 30,000
Al 70,000
206 M= Hl 10,000 0 10,000
< 3,000
Al 7,000
01 M2 4l 10,000 0 10,000
OASMEEsA =4 M= 100,000& 1008 10,000
< 3,000
Al 7,000
401 Al HI K 201 Y] 90,000 0 90,000
< 27,000
Al 63,000
01 A& HI 90,000 0 90,000
OAZSMESIEA =4 90,000,000 =104 2 90,000
< 27,000
Al 63,000
HHR2HZH (s II=dH) 659,424 560, 522 98,902
ol 2 gl 425,200 318,800 106,400
ol Hl 425,200 318,800 106,400
101 @144 Hl 425,200 318,800 106,400
03 RIAHAZ 22+ 425,200 318,800 106,400
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. HH YU (sYII=4H)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHF XA (3Y) 3,200,000 «3H «12& 115,200
OJIHEHI A (7H) 3,500,000 x7H+12& 294,000
OSIAHLUMSE FL2RE
200,000& 80 16,000
|23 bl 234,224 AT,498
2Bt G| 234,224 AT,498
201 Let24d]| 82,876 A9,098
01 At 22/l 82,876 A 9,098
O=+=&Hl 50,000 x48H «12& 28,800
O =&l 8,000 «48H 72 «12& 32,256
CHEE] 21,820
Oga 60,000 x2H 121 14,520
OTHER 20,0003 »1H »365 7,300
202 Odl 122,328 0
01 = LH 4 Hi 115,200 0
AR+ SH0OH 200,000& »48H «12& 115,200
02 N 7,128 0
o=2dd 7,128
oJl= 138,000& x3H x12& 4,968
Ot et 60,0003 x3H 128 2,160
203 YR =] 17,020 1,600
01 JIZ2Z YR8 3,300 0
OJI22E R =AHI 275,000 128 3,300
02 A& H =& 2,320 400
OFAJtatY =& 40,000 58 2,320
04 EA2I YR 11,400 1,200
ORNSLARXFTH (N ZIHL )
350,000& »12& 4,200
ORN2YERFIHI(JIzE21)
300,000& x12& 3,600
ORNSYERFIH(MESZ =)
300,000& »12& 3,600
204 HR=HAH| 12,000 0
01 M HRHFH 12,000 0
OXNMZURAHAYI (L) 400,000 128 4,800
CEEEFERS N E)
100,000 3 122 3,600
ONMIYLLHAY (HHLH)
50,0003 x6H =12 3,600
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